TIBKA POKLOP  |STUPAD.| SKRUZ | SACHT
iscm&uum @ | b | NORMAL | A | B 5 g E PRECH.
e DN[DN [DN
i dl d2 d3 d4 | |KP.| KD.| mm | mm | ROZDIEL mm | mm g g E g a ™| = |200 300
o
” ” g
STOKA "R.1 a
@ xEl 5|y 2020
S at 250 | 250 ER| & | S |200]100 § g |1 1)1
15 n.? ~ ~ 2220 - 4]
xEl n| 2000
(e}
& d1 92 250 | 250 2al 31 % 1]200/|100 8| o1 1]
o - ~— - < o
16 n.g ~ ~ 2200 - o
a1 8 8 2000 ° *
& 250 S| S 200]100 8l gl 1
17 <> S8 & 2200 I8
SPOLU 3 3|3
SP2 < ol 9 3200
£ o
% » 42 | 250 | 250 éB = = [ 200 | 100 § gl 1] 1
14 200 by IPI IS 3400 A
SPOLU 1 11 1
SPOLU STOKA "R.1” >
. 4 4| 4| |1
STOKA "R.2"
42 o | g 1900
& a 250 | 250 21 Z 200|100 S| ol 1|+
18 S| & 2100 28
a2 8| = 1760 °
3 d1 250 | 250 &1 5 |200] 100 gl gl 1]
19 SIS 1960 | 8
o | = 2190
& a1 92 1250 | 250 S 2] 200] 100 2| of1 T
20 S| 2390 EL
o | o 1860
& .i@ 250 g < | 200 | 100 2| s * T
21 S| & 2060 S8
SPOLU 4 414
SPOLU STOKA "R.2” >
. 4 4|4

* POKLOP S ODVETRANIM




